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Total 2 Way Vehicle Flow (1000 veh/day or 100 veh/hr)

SEGREGATED
CYCLE
FACILITY

Congested and becomes
unsuitable for cycling on
I the carriageway

Cycle lanes and tracks can be considered
but are not normally beneficial in 20mph zones

SHARED
ROAD | SEGREGATED
>~ CYCLE
N FACILITY
CYCLE \
SHARED LANE Reduction of motor vehicle
ROAD \ \ speeds should be considered
e S~ ‘_
i ~ SEGREGATED ~
CYCLE FACILITY
10 20 30 40 60 70

Speed V 85% (mph)

B)) 6



/0 "#& /0o 1 2
C D) ) &D
C + D) ) D)
! )ED
2 B))
I
$+ 3 4
BD
0 8%+#
- &) |
BD +
D 3 +
BD $A - )D
0 8% 4
5
o 3 ! $
I &) I
+
0O 8% -
+
!
(%] + 2
< 7 B &
|
@ I
0O 8% +
A
+.
D # + 1 !
!
- &1
F@
0O 8%
+ ! - % H
D 3 + B & [
n A$ < >
- + |
@ ! | +




o

6

8%

3

)D



$9

O # % !
4,10
A
7
1]
@ +.
@l
8%
# $
#
A $A
<
(
g # 3% I
0O 8% +# 6
$:
@ 9
+
$
!
0O 8% 3
$;
1]
2
o !

4
105 2 ¥ »&D FJ % $# G.
A
!
6 7
!
+ -
$
!
@
A
$ 2
&$ ?
!
o +
7,
+ |
+ -
!
4 | 5
6 7-
! - B)D
+
$



%&
|
| . (
- B)DE.
+ -
. + -
0 8% ( !
B)DE | . @
B))$&))
- K*E. $
| $ |
$
! +
| |
0 8$ 3 " | +
@

)&



0 8%




o

$3
v 9

8%

== >? >
@

?/ L

%3

*D

16 % > ==@-

+  %H

BD



+

v 3

+

0

@
+1 !
&b2D) !

8% #+ $

%.% > 3> 1A%3(2

$ L#/

V# + +

#1

%

+ !



+3
o #/

8%

©O

#1

BD

B)DE



5%
g 9

&)

"_ 0

*

8 4



&)

&D

M)

1 $4
1
@ +
+ !
+ -
M D -&)
2

(



&M

M)

(%) +
$
-B &
0O 8% 3
$
7)) -
+
0O 8% 3
+
1] KDE.
0 8%
a
0O 8%
(%] +
58 !
+
+
g 9
D # !

KD*.



o

8% >

)%

B)DE

M)

&)

KD).



# -

6 , 7 - 9L &KM.
@ - +
0 8%
3
n + '
256 )78 9 . !
$7 7 7 ( Lo
$ ! 1 +
1 1 (
4& - & A6 (
9 - mn
+ +






3 |
- D)N . 9
I
@
+ @
0O 8% +# ! -
$ |
+1: 4 | |
| I +
1) A
<
2 9 +
!
+ 6:% 7
0 8% +
+ +
2 9 !
+1 -
6 >33%>!

8
8
g 9 ! @



o

8%
@ 3

o

8% |

| #

8% 3

1S #

$ 6 7-



8+
o +

85 *

+ - 6#7

$ + <>

C7

B)

M)



89 6

g #
8: %) B
g 9 + $
A
+
+
- : 0 !
@ 6 $ 7 #1/!
! + +
9 **3 B%C
2/ 0 &)12 3 8< =
+ &)1
2 84 &
8 + $ $
0 2 8< *
8 + (ONNO) + +$
2
+ 2 <
>?? 120 '! @#3 A 77B6 3A*)BC A7
121 89 %
8 + & E* @
13 >>
P L! #+
3 I
<
&3 9 8% <

%



%



